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HAE7|FHE 152,000,000 152,000,000 152,000,000 - | &7zt A E
UlEHEEE - - -
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AZALAX FXIES HS(750,0008 1274 &)
DBMS Fd % AME(1,000,0008 35| AA[)
SHE = Iy /2 E2HE NS ZE X X &
A FF= | 5,485,000 6,000,000 (515,000) [MOUE] 2Fx| Z
CH 2] 4 Z=Atd|
7| Et
E 2| 45,234,000 50,440,000 (5,206,000) [ &= HH|
3| o] - 500,000 (500,000)
PN 40,469,000 102,725,000 (62,256,000) | 5tAl 2! ste|Z=0{4] A} Rl 24 H|E
S5t stEMo|LLs SHREAAM|] ALE
7|Et2 | 21,109,000 27,730,000 (6,621,000) [l w2 HE Z1H| 2
st A | 1,361,901,000 1,395,845,000 (33,944,000)
o1 7| 62,000,000 40,000,000 22,000,000
o1 7| 62,000,000 40,000,000 22,000,000 |Melmel oA7h odH| & T2 HE of HH|
S AH| 1,299,901,000 1,355,845,000 (55,944,000)
= st 5 20 AF2 4914000000+ H o W L) ZHStH| £0. 26+ H B 57| 5
B pg=i=! 1,278,188,000 1,327,725,000 (49,537,000) %1goﬂglk_gro_ﬂ111(|30()0()0*D|_LH§F3_,|-01|/gH|35.45 & ! |
Shy x| | 21,713,000 28,120,000 (6,407,000) |2+ M3 sy 2l X|2lH|
WsLH|E 1,500,000 - 1,500,000
7|Etn g el & 1,500,000 - 1,500,000
Zaes 1,500,000 - 1,500,000
M&EZ 152,000,000 152,000,000 -
M&ed 152,000,000 152,000,000 -
HSEZS|AMES 152,000,000 152,000,000 - [Zotakzie] M E
o] 36,000,000 36,000,000 -
|01ltl|tl| 36,000,000 36,000,000 -
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= = FH 0| AHY 2of Aoy SZHH MEEA
of 1| | 36,000,000 36,000,000 -
oy X & 1,571,451,000 1,010,450, 000 561,001,000
Ao i x| &= 1,571,451,000 1,010,450, 000 561,001,000
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i o | A| A Fojj (58,300,000 «1CH)
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ME{ 7 ALSEA| A B T 2
Hotata| Zhd| S2of (22,000,000 =10l )
Z7|H| Zoj elH| 1,045,151,000 516,150,000 529,001,000 |AFEl S ALE Z7|
LMS ME{0S <+oi (500,000 x4copy)
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DHI ZOIQIEAM EQI(2E20,000,0008+F=H|5,000,0008)
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HSES3H FIEEAS oLt

7|2+:2018'4 03 01 ~ 2019 02& 28

1. &¢
= ) 3
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2| & =
sEaTd 344,281,000 440,700,000 (96,419,000)
A ] 344,281,000 440,700,000 (96,419,000)
|2z 344,281,000 440,700,000 (96,419,000) |Al 2+ 252,065,000
BTAMACHE| Y / gt by
Mo g4 3,013,726,000 2,604,285,000 409,441,000
Hel g+ 167,000,000 152,000, 000 15,000,000
HYFENMAF 15,000,000 - 15,000,000
SEFIANLZ 152,000,000 152,000, 000 - (Hotatzu] el F
AR =) 12,530,000 10,000,000 2,530,000
Ao 23 12,500,000 10,000,000 2,500,000
NESP =, 30,000 - 30,000
S = ] 2,834,196,000 2,442,285 ,000 391,911,000
s 2,594 405,000 2,385,585,000 208,820,000 [Z7}&tsta x| (FH
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K| XX 2HA| - -
J|EtE=F - -
NSRE-Y 90,030,000 92,300,000 (2,270,000)
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|%%,E 1,200,000 1,200,000 - (AT SEM 2 T Ug =
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A& -
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J|Etn sl 75,000 100,000 (25,000)
el 75,000 100,000 (25,000)
g A 3,457,212,000 3,141,485,000 315,727,000
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AaredESA 3,490,740,000 3,141,585,000 349,155,000
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B 228,240,000 233,310,000 (5,070,000)
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Zoldg 550,000 550,000 -
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ERu|(SEE, JIHE,
7| Ef2H | 14,469,000 18,100,000 (3,631,000) [ csBE| XA 222
AT g| 2,921,110,000 2,619,115,000 301,995,000
St AH| 2,767,825,000 2,442 ,615,000 325,210,000
el 2,767,000,000 2,442,285,000 324,715,000 |=7t&eta
EEY 9 SB0|YFIX
miR sy 825,000 330,000 495,000 [A|ZHM| SHM/ Z 2 EFst
S| - - -
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of H|H| 10,000,000 5,000,000 5,000,000
G 10,000,000 5,000,000 5,000,000
|0=I|H|H| 10,000,000 5,000,000 5,000,000
FALLY|EFRMX| & 152,000,000 152,000,000 -
Sd7|axE 152,000, 000 152,000,000 -
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HEEEEE - -




= FHo| A 2of Aoy A

x| & - 2,000,000 (2,000,000)
PSPNENSTESIPNES - 2,000,000 (2,000,000)
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